3
NOTES:
1.0 GENERAL
1.1 ALL METRIC DIMENSIONS ARE IN BRACKETS

2.0 DESIGN NOTES

3.0 MANUFACTURING/SPECIAL REQUIRMENTS

4.0 TEST

5.0 PACKAGING

I
1203047
!
F 144(3662] 4
- 132(3353) -
ITEM |PART NO. DESCRIPTION QTY. WEIGHT NOTE NO.

1 GB-03105 3/8" X 1" GALV BOLT KIT 36 0.05 LBS
2 |GB-03505 3/8" X 5" GALV BOLT KIT 8 0.17 LBS
3 |GWF-03 3/8" GALV FLAT WASHER 8 0.01 LBS
4 |MTC3813C14 CANOPY BRACE, 11 GA, 30" 4 4.18 LBS
5 |MTC392212 CANOPY BRACE, 11 GA, 24.5" 4 2.75 LBS
6 |MTC4037C16 POST, 4 X 4 X 110.25 4 56 LBS
7 |[MTC4037C14 CHANNEL FORMED CANOPY END, 8' PLAT 2 51.15 LBS
8 |[MTC4038C14 LONG CHANNEL CANOPY 4 47.33 LBS
9 |RDB1836120 ROOF DECKING B 18 GA 36" X 120" 4 82.34 LBS
10 [1S1275 TEK SCREW #12 X 3/4, WITH NEOPRENE WASHER 97 0.02 LBS

115/2926

@ 2019 CommScope, Inc.

REVISIONS

REV.

ECN

DESCRIPTION BY

DATE

8000034517

INITIAL RELEASE MRC

03/19/19

D
C
112]2835]
B
i tll !
~—— 062438 | ——
~———104/2642| ———
COMMSCOPE, INC. OF NORTH CAROLINA
TOLERANCES SAP MATERIAL MASTER
1PLACE X+ .25 3PLACE XXXz 0.06
2PLACE XX+ 0.12 ANGLES  + 2° MTC4038CRHD
FINISH MATERIAL
GALV A123 A1011/A1018, A500
3 NAME DATE | TITLE
g I MRC 06127718
L S 8X12 HD 18GA PROT PLAT CAN A
DENSITY |0.28 bsin®| wz2
Swx RV
MASS | 877.98 Ibs % ;E AD |ROT0%8 0471772079
VOLUME | 3105.31 e | 228 [ge [ROTOZE 0271712019 SCALE | DOCUMENT NO.
SURFACE AREA " | 355 [EcN 008000034517 1:32 MTC4038CRHD
HEIGHT SIZE  |WORKAREA 24 MODEL DRAWING SHEET
LENGTH C @ 6 VERSION | STATUS | REVISION | VERSION | STATUS | REVISION
WIDTH 01 RE B 00 RE A 10F6




NOTES:

4
o
46(1157|

! q

48(1216)

.

I
102(2590
Y

F 138.0/3504.9|
C<_‘

] : : 3

O 2 f R '
C<—i

@ 2019 CommScope, Inc.

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE
8X12 HD 18GA PROT PLAT CAN
SIZE SCALE DOCUMENT NO.
Cl| 1:24 MTC4038CRHD
DRAWING
SHEET
@ 6 VERSION STATUS REVISION
00 RE A 20F 6

]




NOTES:

BOLTS TO MOUNT
CANOPY TO BASE.
TYPICAL FOR ALL

CORNERS

SECTION C-C

@ 2019 CommScope, Inc.

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE

8X12 HD 18GA PROT PLAT CAN

SIZE

C

SCALE

1:8

DOCUMENT NO.

MTC4038CRHD

@ =

DRAWING

VERSION

STATUS

REVISION

00

RE

A

SHEET
30F6



NOTES:

DETAIL A
SCALE1:4

@ 2019 CommScope, Inc.

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE
8X12 HD 18GA PROT PLAT CAN
SIZE SCALE DOCUMENT NO.
Cl| 1:24 MTC4038CRHD
DRAWING
SHEET
@ 6 VERSION STATUS REVISION
00 RE A 4 OF 6




NOTES:

DETAIL H
SCALE1:6

12/305] TYP

SPACING ALONG OUTSIDE EDGES

& % L
L @ L
L % <@
g ———————

6/149]
TYPICAL SPACING

# £ & & i # £
L | B L4 L] L L | B
L | @ B & i L | @

k- & 4 —r
o 45/1143]
@ @ @ 4 '
\
H 48 1220
® ™ 3 ] '

@ 2019 CommScope, Inc.

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE

8X12 HD 18GA PROT PLAT CAN

]

SIZE SCALE DOCUMENT NO.
C | 112 MTC4038CRHD
DRAWING
SHEET
@ 6 VERSION STATUS REVISION
00 RE A 50F6



NOTES:

4 3
JI . I} . jf N ' Y s Y Y ' jt N ' Y s Y Y ' . 5%: . :E
Iz Iz g
AN Abd
SHERE : ; N8B
{ TLDJ Lmv
_____________
THIS HEX BOLT
IS IN TOP OF CANOPY

HEX BOLT MOUN'S
CANOPY POST TO

BASE.

SECTION G-G
ECTION G- ALL FOUR POSTS

o O 4
o © O 4

8.0/203.5]
ER—— TYPICAL
CETALF ALL CANOPY POSTS
SCALE1:6

] BOLTS ONLY GO THRU
INSIDE WALL OF 4" TUBE

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE

8X12 HD 18GA PROT PLAT CAN

SIZE SCALE DOCUMENT NO.
C| 112 MTC4038CRHD
DRAWING SHEET
@ 6 VERSION | STATUS | REVISION
@ 2019 CommScope, Inc. 00 RE A 6 OF 6



	MTC4038CR AD
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4

	Sheet2
	Drawing View5
	Drawing View7
	Drawing View10

	Sheet3
	Section View C-C

	Sheet4
	Detail View A (1 : 4)

	Sheet5
	Drawing View8
	Detail View H (1 : 6)

	Sheet7
	Drawing View17
	Detail View F (1 : 6)
	Section View G-G


